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QUESTION 1

Your child\\'s high school has created a wiki for its social science classes to support blogs and collaborative projects.
Your child also contributes photos of extracurricular events to the school\\'s Facebook site.

Which term collectively describes these types of Web usage?
A. Mashup

B. Web 1.0

C.Web 2.0

D. Folksonomy

Correct Answer: C

QUESTION 2

You are a software developer who wants to start developing mobile apps for smartphones. You have the option to
develop apps for an open-source operating system.

Which of the following could persuade you to focus your development efforts on the open-source operating system?
A. An open-source license will never be in the public domain.

B. Source code for an open-source app is not viewable and cannot be modified.

C. Open-source operating systems and development tools are free from software bugs and viruses.

D. The operating system and associated development tools are free, provided you comply with the copy left license.

Correct Answer: D

QUESTION 3

To reduce the costs of maintaining servers with FTP access; your company is using P2P to facilitate sharing of
information.

Which strategy should your company use to protect the company\\'s sensitive information while capitalizing on the
benefits of P2P power?

A. Limit P2P use to sharing music files

B. Restrict employees from using their computers in P2P communications

C. Use technologies that will control access and password-protect files.

D. Restrict P2P use to sharing only with universities and research organizations

Correct Answer: C
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QUESTION 4

You have just checked the balance in your bank account by logging into your bank\\'s Web site. Which protocol was

most likely used for the transmission of your information?
A. IMAPS

B. HTTPS

C. POP

D. FTPS

Correct Answer: B

QUESTION 5

What is the difference between a computer virus and a worm?

A. A virus can replicate by itself, whereas a worm requires user action to replicate.

B. A worm can replicate by itself, whereas a virus requires user action to replicate.

C. A worm can deposit an illicit server, whereas a virus cannot.
D. A worm can deposit an illicit server, whereas a worm cannot.

Correct Answer: B
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